ERL25F EERIEE

1 FRIAMILARZEER

EFXIZBTAFRIVMILAREZEDER

(1) BEFRIAILRIEES
HBsHURRE(ZEHLY
22EN) Tl IEHIESN REEER (%)
=& (N)
= |4OBBBLND - o |4ORBBLSND = = |40BBBLSD
ORRZ | ngz~omp| A WBBRY | wgz~omp| b WBRZ |ngz~omp| =%
T 255 94,230 759,136 853,366 394 6,074 6,468 04 08 08
(2) CRIFRIAIRIED _
MR, CEFXRVAIL
= n Rz E’Z%LTL\%)_I""IE o5 5
';_‘. , —ics !ﬁ_,r‘{. b3 73 0/
T:%(A)
= |40FEERZ LS D = = | 40RERREZ LIS DD = = |40ARBUS D
WRRZ | ngz~omp| A WBRY | wgz~omp| b WBRZ |ngz~omp| =%
T 255 94,332 755,367 849,699 158 3,369 3,527 0.2 04 04
(BZ)CRERUBEF X VM ABRLEEZDHBICOVT(ZK)
BRFF &Y (L ABREEDHS CHFF &Y AL ABRE RO
BREE (%) R (%)
4 16 |
B 14 |
12 12 |
[ 10 |
10 f 08 |
09 [ 06 L
08 | 04 |
0.7 _ 0.2 —_—
H14 H15 H16 H17 H18 H19 H20 H21 H22 H23 H24 H25 H14 H15 H16 H17 H18 H19 H20 H21 H22 H23 H24 H25

(3) B & - f PR AR

EFiARE {E)) SMEANT(N) S e 2k ([E]) SIEANE(N)
I k255 FE 1,195 33,766 2,561 15,611
2 FRIDAMNIVAREEZDREEER
(1) 404832
(BA{5I: %)
40i%
BEMFRX [ -
A ILRIED ERk 254 E 04
CEFX |w
HAVRBE T Rk 254 FE 0.2
(2) OBMREZLUNDHARE~NDIEE
(BE{Sr: %)
41~ 45~ 50~ 55~ 60~ 65~ 70%% pyn
4455 495% 547% 597% 647% 697% Lk
BEFX |4 -
DA LRSS TRk 254 05 0.6 0.7 0.8 0.9 1.0 0.8 0.8
CHEIFF & .
B ILRBD F k255 E 0.2 0.2 0.3 0.4 0.3 0.4 0.9 0.4




ER25%FE BERFAVAMILAREERER
(1)40ERE B ERFIE)

HBshiBEREICHE UL T[E & F
X R H|= 2 ZEIBHEI1EHESN - F (%)
(AN) (AN) (AN) D
A B C (C/B x100)
1[4t &/ & 76,076 2,611 18
2|18 & B 9,526 754 16
3|8 F B 13,515 1,315 8
= 16,687 2,349 22
518 H B 12,414 618 2
6l 2 B 56,276 1,574 3
178 B B 27,374 1,162 2
8 |%x W B 70,404 3,270 10
9|th K B 28,846 2,922 7
108 & B 27,229 2474 7
11| £ B 142,186 2,933 10
12|F ¥ B 106,769 9,636 41
13| = #B 671,374 14,783 63
4B EINE 73,182 3,341 10
15|18 &/ B 5,813 977 1
16|82 WL B 9,600 1,197 4
1712 Il 8 18,240 1,578 6
18|58 # B 11,174 761 3
1914 F 8 9,218 689 -
20|k H & 19,414 2,023 3
21|l B B 30,699 2431 13
22|13 M B 43174 4,603 16
23| & B 144,384 7,122 17
24|= & B 18,875 913 3
5% B B 20,822 1,472 2
26 |5 &b KT 17,395 1,831 5
27| K R K 269,195 2,428 15
28| E & 88,744 3,651 19
29[xE BE B 22,473 730 -
30 |#0 Fx 1L & 13,181 1,006 2
|8 W & 7,942 548 7
32|18 B & 10,469 566 4
3| W & 76,385 500 2
ML & B 13,578 372 1
3Bl O B 12,858 163 2
B(fE B & 9,711 556 1
37|1F NI B 13,922 1,418 9
IB|E g & 12,538 572 4
(= % B 10,297 199 -
40(F M B 23,956 1,282 8
MiE B B 6,199 365 2
RIE B B 28,217 421 3
43[88 X 1B 18,547 638 3
Mlx 9 B 8,862 524 5
45 (= & 1B 8,356 688 3
46 REE 19,364 1,293 6
474 % 5 54,348 971 6
EERFREE 2,409,808 94,230 394




(1) 40w #8352 ($5 % #B 1)

HBsh BEHBEREICE NTER £ F =R
X R H|= 2 ZEIBHEI1EHESIN - F (%)
(AN) (AN) (N) D
A B C (C/B x100)

(B#)
48 |4l 1% T - - - -
49 [ & - - - -
50 |&LVvi=FET - = - -
51[F E ™ 17,321 1,699 5 0.3
52(# JE ™ - - = -
53|)I B T - - - -
54[HHER ™ 12,776 782 2 0.3
55|%F B ™ - - - -
56 (5% [E ™™ - - - -
57 ¥ ™ 12,861 2,237 10 0.4
B - = - -
5[l # ™ - - — -
60| K BrR ™™ - 172 - 0.0
61 [ 17} - - - -
62(ff F ™ 25,322 874 8 0.9
63 (M LU 57,428 36 — 0.0
64|(I1 B ™ - - - -
65 |t LM T - - - -
66 (18 [ ™™ - - - -
e EAB T &T 125,708 5,800 25 0.4




(2)40FEHRES 1%0)*1%%1\0)1@

EIZHE WMTE & &F F
= B & T Sh =& (%)
(AN) ) C

A (B~Ax100)
[ EA:: 29,775 438 15
2 [F & 5,525 78 1.4
3|E& F 15,694 134 0.9
4 = 10,127 124 1.2
5 |f# H 4107 50 1.2
6 [IL 14,991 136 0.9
168 B 10,416 107 1.0
8 |% 24618 135 0.5
9 [#F K 19,724 135 0.7
103 B 12,243 54 0.4
EEEES 21,120 189 0.9
12[F % 52,547 395 0.8
13| = 105,146 801 0.8
14 |8 Z= )1| 37,284 259 0.7
15 |3 B 11,581 75 0.6
16 |= L 3,702 31 0.8
17|/ )i 5,695 52 0.9
18 [#&8 # 9,869 88 0.9
19 [l F! 7,121 49 0.7
20| % 18,147 69 0.4
21 [l B 11,029 53 0.5
22 |8 M 36,703 223 0.6
23 |8 %0 35,867 247 0.7
24[(= & 8,823 44 0.5
25 i B 11,715 35 0.3
26 |5 &R 6,484 32 0.5
27 | X R 29,834 227 0.8
28| & 53,042 393 0.7
29|&E B 4,020 26 0.6
30 |70 Fx 1L 9,371 53 0.6
31|18 H 7,504 139 1.9
328 & 4,847 41 0.8
33|@ L 18,708 117 0.6
ML B 11,486 137 1.2
35 A 1,716 16 0.9
36| B 2,677 19 0.7
37[&F I 9,542 57 0.6
38 |E I 5,280 40 0.8
39|35 40 3,804 25 0.7
40 {2 [ 8,803 91 1.0
Mk & 6,327 74 1.2
2 K 7,371 70 0.9
43 |BE K 8,832 81 0.9
41K 5 4,842 29 0.6
45 |'= IR 7,735 86 1.1
46|ERE 16,136 178 1.1
AR 7,206 142 20
ZRERFR AT 759,136 6,074 0.8




(2)A0FBRE LN DA RE~DIRE

(15 7 #h)

HBs?ﬂ.ﬁ*ﬁE(Z LY TR 2 F =X
= 2 %‘Fﬂﬁﬁja#ﬂiéiﬂf:% (%)
(N) (AN) C

A B (B~A X% 100)

(FB18)
48 [#L 1R T - - -
M & ™ - - -
50 [ELvi=FTH - - -
51| F ¥ 11,134 79 0.7
52(# E ™ - - —
53l & T - - -
54 |48 #& |& 6,527 54 0.8
55 (%t B ™ - - -
56 [8% [ T = - -
57K W 10,710 37 0.3
58| ET™ - - -
59 [ # ™ - - -
60 (K Br ™ 2,810 28 1.0
61 [IR [it] - - -
62|t F 8,754 61 0.7
63| W T 8,916 40 0.4
64| B ™ - - -
65 |db L T - - -
66 [f8 [ T = - -
e EAB T &T 48,851 299 0.6




FH254E CRAT%
(1) 40554532 (FPERIR)

VAL ARERIEIER

MRTE.CRPFFRIAMILRIC [ & FH =X
¥ 5 EHZ 2 E| BRELTWAETEEMEASEL (%)
(N) (N) EHESNT=E(N) D

A B C (C./B x 100)

HEAEEE 76,076 2,622 5 0.2
2 |5 & B 9,526 756 2 0.3
3B F B 13,515 1,314 — 0.0
4|E W B 16,687 2,350 1 0.0
5 8%k B & 12,414 618 1 0.2
6 IL B & 56,276 1573 1 0.1
1l%8 B B 27,374 1,162 2 0.2
8 [% W B 70,404 3,270 7 0.2
9t X B 28,846 2,925 4 0.1
W g & 27,229 2,476 2 0.1
1HiE £ & 142,186 2,940 5 0.2
12|F ¥ B 106,769 9,638 7 0.1
13| = # 671,374 14,791 23 0.2
AEEIN 73,182 3,345 3 0.1
153 B 8 5,813 977 - 0.0
6= 1L B 9,600 1,198 - 0.0
17/ & 18,240 1,578 1 0.1
188 # B 11,174 760 — 0.0
FRIMET! 9,218 682 1 0.1
20| B 8 19,414 2,011 12 0.6
21 |if B 1B 30,699 2,431 1 0.0
228 M B 43174 4,664 6 0.1
23| & B 144,384 7127 11 0.2
24|= & & 18,875 912 3 0.3
25 | B B 20,822 1473 — 0.0
26 |32 # AT 17,395 1,831 3 0.2
271|X R A 269,195 2,430 5 0.2
28|E E B 88,744 3,655 3 0.1
29| B B 22,473 729 — 0.0
30 [#0 3r 1L 2 13,181 1,006 3 0.3
3 BB 7,942 548 1 0.2
2|8 B B 10,469 565 1 0.2
33|@ L B 76,385 499 — 0.0
ML B B 13,578 364 — 0.0
M 12,858 163 2 1.2
bl B B 9,711 555 1 0.2
37|F NI B 13,922 1,422 1 0.1
3B|E I B 12,538 576 1 0.2
9|5 & B 10,297 198 — 0.0
402 @M 8 23,956 1,283 — 0.0
MliE B8 B2 6,199 371 4 1.1
p|E B &2 28,217 421 — 0.0
43|88 X B 18,547 638 1 0.2
umlx » B 8,862 525 2 0.4
HEEE 8,356 691 3 0.4
46 |EREE 19,364 1,303 1 0.1
4714 48 2 54,348 966 28 2.9
#HERFEAET 2,409,808 94,332 158 0.2




(1) 40mk 1R 52 (45 7 &R 1)

x R OF
(A)
A

MRE. CEFRVAILAIZ
BRELTLDEREEN SN
EHIESNT=E (N)

C

R O3 FOE
(%)
D
(C./B % 100)

48 |AL R T -

49 [l & -

50 |&LVvi=FE T -

0.1

17,321

0.3

12,776

56§%mﬂi -

12,861

0.0

5 |I| &R ™ -

60 [K Br ™ -

0.0

25,322

0.1

0.0

57,428

125,708

0.1




(2)AOFREZ LN DRRE~DZRZ (FHEFR)

MR, CRFFRIAMIILAIC | £ & X
= 2 FH| BRELTWAATREMEAFLY] (%)
(N) EHIFESNT=FE (N) C

A B (B.”A % 100)

114t B & 29,863 71 0.2
2 |1 E HF B 5,524 29 0.5
3|l F 8 15,683 50 0.3
4 (= H B 10,127 41 0.4
5 fk B 82 4108 10 0.2
6 (Il iz B2 12,381 27 0.2
718 B B 10,408 56 0.5
8 [& W &2 24,625 99 0.4
9 |#F K B 19,698 63 0.3
108 E B 12,217 91 0.7
RREEE! 21,123 103 0.5
12|1F ¥ B 52,506 266 0.5
13 |5 = #B 105,168 630 0.6
H|ENE 37,570 166 0.4
15|85 B B 11,581 19 0.2
16 | = ] 3,708 10 0.3
1718 ) B 5,686 7 0.1
18|58 # B 9,867 45 0.5
191l F B 7,063 28 0.4
20k % & 17,547 43 0.2
21 (I B & 11,032 28 0.3
22 (3% B B 37,288 156 0.4
23 (& % 2 36,387 200 0.5
24 (= & B 8,835 55 0.6
25 i B8 B 11,726 30 0.3
26 &R # ¥ 6,493 24 0.4
27 [K PR KF 29,921 151 0.5
28| E B 53,057 205 0.4
29[ B B 4,024 9 0.2
30 [(f0 gk LB 9,013 40 0.4
31[BE B B 7,503 32 0.4
28 B B 4840 27 0.6
33[(M 1 B 18,774 71 0.4
ML & B 10,186 51 0.5
MM 1,714 9 0.5
B lE B B 2,677 14 0.5
AT 9,544 43 0.5
8 [(F g B 5,214 24 0.5
9 (= % B 3,765 8 0.2
40 B B 8,779 48 0.5
MliE B8 B 5,965 59 1.0
2E B B 7,366 32 0.4
43 (88 X B 8,833 46 0.5
44X H B 4,843 27 0.6
45 [= 1% B 7,698 21 0.3
46 |EREER 16,189 60 0.4
47 [ 48 B 7,248 45 0.6
EERFESE 755,367 3,369 0.4




(2) 40mERFZ UN DR RE~DIRFZ (FEEHH)

TIHE.CEFFADAMILRIZ [’ & F =X
£ FH| BRELTWAAEEENF L] (%)
(A) EHIESNT=F (AN) C
A B (B./ A x100)

I3

(F848)

48 |4l % - - -

49 il & - = -

50 [SLv=FETH

51 |F E¥ 11,132 74 0.7
52 [# R ™™ -

53 [JIl I T - - -

54 B R 6,527 33 0.5
55 |#F &/ T -

56 [§% [ ™™

57 |k ¥y ™ 11,256 17 0.2

58|12 ET

50 [l # ™™

60 [ K Fr ™ 2,810 19 0.7

61 [1&

62 |#f 8,754 25 0.3

=]
63 |FE L
5

8,965 23 0.3
64 |Iix -

65 [t

66 |18 [

EE#R T E 49,444 191 0.4




FRVAMIWARZISOVTORREE - BERAROERIKR

(BB ERFIE)
BEHE f2EEAEEX

e %4 ([E]) SMEANEB(AN) | ErEEZ([E) SIEANE(AN)
14t &' & 43 1,691 192 641
28 & B 78 3,918 76 727
3|2 ¥ B 18 1,441 2 8
45 W B 37 952 18 45
5% B B 11 201 18 25
6l 2 & 1 52 50 197
118 B B 14 1,033 21 159
8 |%& W B 78 2,485 67 901
9o[th K B - - 48 351
10/ §E B 3 12 4 9
i £ B - ~ 17 54
12F ¥ B 1 74 27 140
13| W #p - - 225 1,767
4R - - - -
15131 & B 1 20 8 8
HENT- - — 87 344
1712 )il & 1 70 17 19
18|18 H# & 1 12 43 452
9l 3 8 4 159 61 325
20|k B 153 2,411 34 987
21|l B B 49 845 73 373
22(8% M B 5 45 74 290
23| B - ~ 3 3
4= & B - ~ 2 2
255 B B - — 37 578
267 # AF - - 57 57
27|K BR K 98 3,255 121 434
28| E B 40 934 39 88
2WE R B 17 869 18 44
30|F0 LB 1 13 10 69
31|18 BB 2 49 - -
208 B B 13 613 41 417
33[M W B 63 1,209 77 113
UL B B 2 88 82 113
Bl A 8§ - - - -
B|E B B - - - -
371F NI B 1 21 5 5
B[E BB 3 32 46 105
9|5 & B - - - -
40|48 M B 112 3,122 214 329
MlE E B 13 761 46 110
2E B B - - - -
43|88 KX B 81 972 263 788
X » B 2 48 — -
45| I 18 25 707 45 187
H6|ERER 224 5,652 192 1,723
7% 8 B - - 101 2,624
MEFESE 1,195 33,766 2,561 15,611




(FEE AR )

BEEE

A

S ie 2124 ([81)

SIEANE(AN)

S ie 2124 ([81)

SMENB(N)

(B15)

4814 1R

] TS

50|&LVv=F

51|1F FE
52| ik

5311 1%

544 R

55|31 B

56 |&% [

57K #

58|12 B B

59| #p

60| X

=

w0
—
=
S

61[|3&

62 |44

B
63| LU
64| B

—
tpeprjpeprjpeprjpeprjprprjprprjrrjrgl

—
tpeprjegprjpeprjpeprjpeprjprprjsrrjrgl

6514k L M

199

226

s s 1 Y I e e Y I e e I I e e Y e Y e T

66|18 [

AT T ST T ST ST T ST T T ST T T ST ST T T T T

tREAR T

213

240




